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AR EPIO[#E 9]
®E (1) 84° (2) —6x°%° (3) —27xby’
fiRn
(1) 2a3®x4a*=12x4)xa’*?*=8a°
2) 3x?yx(—2x3yY)=(3X(=2)}X 2?3 X y1T2= —6x°y°
(3) (=34%y)°=(=3°%(x?)’x y° = —27x°y°
HFEPIL[AE 10]
(1) 8x*—12x%+20x2 (2) 8x°—4x’+6x—3 (3) 2x%—3x%—5x+6
4) 2x*—8x%4+x%2—12x—3
(1) 4x%2x2—3x+5)=4x%-2x%+4x%.(—3x)+4x%-5
=8x*—12x%420x°
2 (2x—1)(4x2+3)=(2x—1)- 422 +(2x—1)-3
=8x®—4x%+6x—3
@) (2224x—=3)(x—2)=2x*+x—3)x+(2x°+x—3)-(=2)
=2x°4+ 22— 3x—4x*—2x+6
=2x°—3x*—5x+6
4) (22243)(x*—4x—1)=(2x%4+3)x2 4+ (22%4+3)- (—4x)+ (242 4+3)-(—1)
=2x'4+3x%—8x3—12x— 2423
=22 —8x3+ x*—12x—3
HFEPL2[(ME 12]
1) 4224202425 (2 4x2—12xy+9y%  (3) 25x2— 1652
4) x*+6x+5 (5) x®4+5x—24 6) x2—5xy+4y?

=
Ry
&K

1) (22445)2=(24)%+2-2x-5+52=4x24+20x+25

2) (2x—39)2=(2x2)2—2-2x-3y+(3y)2=4x2—12xy+9y?

3) (5x+4y)5x—4y)=(5x)2—(4y)2 =25x2—16y>

4) (x+1)(x+5=224+(1+5)x+1-5=x2+6x+5

(5) (x—3)(x+8) =%+ (—3+8)x+(—3)-8=x2+5x—24

6) (x—yx—4y)=2>+(—y—4y)x+(—y)-(—4y)=2>—5xy+ 4y

HREPI2[#E 13]
e (1) 8x%+14x+5 (2) 2x%4+5x—12 (3) 3x2—x—14
4) 4x*—12x+5 (5) 2x2+4+5xy—3y° 6) 12x2—17ax+6a?

1) (2x+1)(4x+5=2-4x4+(2-5+1-4)x+1-5
=8x%+14x+5

2) (x+4)2x—3)=1-2x24{1-(=3)+4-2}x+4-(=3)
=2x%+5x—12



(3) Br—T)(x+2)=3-1x24{3-24+(=7)-1)x+(=T7)-2
=3x*—x—14

4) (22—=5)(2x—1)=2-2424+{2-(=1)4+(=5)-2}x+(=5)-(=1)
=4x%—12x+5

(5) (x+3y)(2x—y)=1-202+[1-(—1)+3-2)xy+3-(—1)y?
=2x%+5xy—3y*

6) (3x—2a)(4x—3a)=3-4x*+{3-(=3)+(—2)-4lax+(—2)-(—3)a®

=12x2*—17ax+ 6a*

R EP.14[5E 16]

mE (1) 4x%3x—2y) (2) ax(3a+6x+1)

[

(1) 12x°—8x%y=4x%3x—2y)

2) 3a*xr+6ax*+ax=ax(3a+6x+1)

R EPLI4 AT 17]

7% (1) (a+b)lc+d) (2) (x—2y(a—0b)

fiRn

(1) (a+bd)c+da+b)=(a+0b)c+d)

2) (x—2y)a+(2y—x)b=(x—2y)a—(x—2y)b
=(x—2yla—"b)

R EPIS[#E 18]

BmE 1) (x+5?% (2 (x—6)?2 (3 (x+3y?* (4 (2a—0d)*
(5) (4a+5b)4a—5b) 6) 2(x+3y)(x—3y)

) x%410x+25=2%42-x-5+5°=(x+5)*

) x%2—12x4+36=2%—2-%-64+62=(x—6)>

3) x%4+6xy+9yi=x2+2-x-3y+(3y)=(x+3y)°

) 4a’—4ab+b2=(2a)>—2-2a-b+b%=(2a—b)*

) 16a*—25b%=(4a)*—(5b)*=(4a +5b)4a —5b)

6) 2x2—18y2=2{x2—(3y)% =2(x+3y)(x—3y)

ZHRHEP.15 58 19]

g (1) (x+2)x+6) (2) x=3)x—4) (3 (a—4)a+5)

4) (x+2y)x+3y) (5) (a—3b)a—>5b) 6) (x+3a)x—4a)

()

1) x248x+12=2’4+246)x+2-6=(x+2)x+6)

2) x2—Tx+12=x24+(=3—4)x+(=3)-(—4)=(x—3)(x—4)

3) a’*+a—20=a’+(—4+5a+(—4)-5=(a—4)a+5)

4) x*+5xy+6y*=x"+(2y+3y)x+2y-3y=(x+2y)(x+3y)

(5) a®—8ab+15b*=a*+(—3b—5b)a+(—3b)-(—5b)=(a—3b)a—5b)
6) x*—ax—12a*=x*+(3a—4a)x+3a-(—4a)=(x+3a)x—4a)
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